
PARTS LIST

DESCRIPTIONPART NUMBERQTYITEM

JD 7000/ 30-60 Hook10-130211

300 Saddle, Green10-101112

JD 6 R-M Front Mount Side Brace Small Frame RH10-1727R13

JD 6 R-M Front Mount Side Brace Small Frame LH10-1727L14

1

1

2

2

A A

B B

2

1

4

3

Bolt List

QTY Description

Placement

2 16mm x 60mm x 10.9 Bolts
Front Mount Brace to Tractor

2 16mm Hardened Flatwashers

6 20mm x 90mm x 10.9 Bolts
Front Mount Brace to Tractor

6 20mm Hardened Flatwashers

4

3/4 x 2 1/2  Bolts 

Front Mount Brace to Hook

6

3/4 x 2 1/2 Bolts 

Hook to Saddle

10

3/4 Lockwashers

10

3/4 Nuts

2

Nylon Strap Assembly

John Deere 6R/M Series

 Small Frame

6105R (2012-2016), 6115R (2012-2016),

6120R (2015-Current), 6125R (2012-2016),

6130R (2015-Current),

6110M (2015-Current), 6120M (2015-Current),

6130M (2015-Current)

* Wheel Base 101.6" to 102" *

*6130R MODEL CAN EITHER BE LARGE FRAME OR SMALL FRAME*

*CONTACT MANUFACTURER FOR GUIDANCE*

Price List
$2046.00

Limitations may apply.  Please 
consult API Sales at 800-288-1117.

300 ID:  JD-6RSF-12CU-FM-300R


